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CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL ENGLISH)

ELECTRO CHEMISTRY

Evaluation Choose The Correct Answer

1. The number of electrons that have a total charge of 9650 coulombs is

A 6.22 x 10%

B.6.022 x 10**

C.6.022 x 10%?

D.6.022 x 1034

Answer: C



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_h7dL21pqzSyS
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2. Consider the following half cell reactions :
Mn*" +2e” — MnE° = — 1.18V
Mn*t — Mn*t + e  E° = — 151V
The E° for the reaction 3Mn*" — Mn + 2Mn?®", and the possibility of
the forward reaction are respectively.
A. 2.69V and spontaneous
B.-2.69V and non spontaneous

C. 0.33V and Spontaneous

D. 418V and non spontaneous

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_h7dL21pqzSyS
https://dl.doubtnut.com/l/_vH5yckbJLFtJ

3. The button cell used in watches function as follows
Zn(s) + Ag,0(s) + H,O(l) < 2Ag(s) + Zn** (aq) + 20H ~ (aq)
the half cell potentials are
Agy0(s) + HyO(l) + 2e~ — 2Ag(s) + 20H ~ (aq)
E° = 0.34V.The cell potential will be
A. 0.84V
B. 1.34V

C.110v

D.0.42V

Answer: C

o Watch Video Solution

4. The molar conductivity of a 0.5 mol dm 2 solution of AgNOs with

electrolytic conductivity of 5.76 x 1072 S em ! at 298 K is


https://dl.doubtnut.com/l/_HDiDpWJ0dD0i
https://dl.doubtnut.com/l/_gXn4aHVBIm3z

A.2.88S em’mol 1

B.11.52 S cm?mol !

C.0.086 S em?mol !

D.28.8S cm?mol !

Answer: B

° Watch Video Solution

5. Faradays constant is defined as

A. charge carried by 1 electron
B. charge carried by one mole of electrons
C. charge required to deposit one mole of substance

D. charge carried by 6.22 x 10'° electrons.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_gXn4aHVBIm3z
https://dl.doubtnut.com/l/_Zpbh62yvULfL

6. How many faradays of elecricity are required for the following reaction

to occur MnO, — Mn2t

A.5F

B. 3F

D.7F

Answer: A

o Watch Video Solution

7. A current strength of 3.86 A was passed through molten Calcium oxide
for 41 minutes and 40 seconds. The mass of Calcium in grams deposited

at the cathode is (atomic mass of Ca is 40 g / mol and 1F = 96500C).

A 4


https://dl.doubtnut.com/l/_Zpbh62yvULfL
https://dl.doubtnut.com/l/_u7muW1v78HFx
https://dl.doubtnut.com/l/_M8iymEo8d3eC

B.2

C.8

D.6

Answer: B

° Watch Video Solution

8. During electrolysis of molten sodium chloride, the time required to
produce 0.1 mol of chlorine gas using a current of 3Ais

A. 55 minutes

B. 107.2 minutes

C. 220 minutes

D. 330 minutes

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_M8iymEo8d3eC
https://dl.doubtnut.com/l/_4tsiy6JRfPdo

9. The number of electrons delivered at the cathode during electrolysis by
a current of 1A in 60 seconds is
(charge of electron = 1.6 X 10-Y%0)

A.6.22 x 10%

B.6.022 x 10%

C.3.75 x 10%°

D.7.48 x 10%

Answer: C

o Watch Video Solution

10. Which of the following electrolytic solution has the least specific

conductance

A. 2N


https://dl.doubtnut.com/l/_4tsiy6JRfPdo
https://dl.doubtnut.com/l/_Br7y95yDXsCW
https://dl.doubtnut.com/l/_0t2j8HAr4WZp

B. 0.002N

C.0.02N

D.0.2N

Answer: B

° View Text Solution

11. While charging lead storage battery

A. PbSO, on cathode is reduced to Pb

B. PbSO, on cathode is oxidised to PbO,

C. PbSO, on anode is reduced to Pb

D. PbSO, on cathode is oxidised to Pb

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0t2j8HAr4WZp
https://dl.doubtnut.com/l/_QatnNed2HfGh
https://dl.doubtnut.com/l/_ZTo2DmdZuMZB

12. Among the following cells
I) Leclanche cell
II) Nickel - Cadmium cell
[l) Lead storage battery
(IV) Mercury cell
Primary cells are
A.land IV
B.land llI

C.llland IV

D.lland Ill

Answer: A

o Watch Video Solution

13. Zinc can be coated on iron to produce galvanized iron but the reverse

is not possible. It is because


https://dl.doubtnut.com/l/_ZTo2DmdZuMZB
https://dl.doubtnut.com/l/_qDCmgBL7fII7

A. Zinc is lighter than iron

B. Zinc has lower melting point than iron

C.Zinc has lower negative electrode potential than iron

D. Zinc has higher negative electrode potential than iron

Answer: D

o Watch Video Solution

14. Assertion : pure iron when heated in dry air is converted with a layer

of rust.

Reason : Rust has the composition FesO,

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. Assertion is true but reason is false.


https://dl.doubtnut.com/l/_qDCmgBL7fII7
https://dl.doubtnut.com/l/_bah1HiZv0QgK

D. Both assertion and reason are false.

Answer: D

° View Text Solution

15.In Hy — O, fuel cell the reaction occur at cathode is

A Oz(g) +2H,0(l) + 4~ — 40H " (aq)
B.H ' (aq) + OH ~(aq) — H,O(l)
C.2H,(g) + O2(9) — 2H>0(g)

1
D.H+—|—€_ — EHZ

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bah1HiZv0QgK
https://dl.doubtnut.com/l/_sKAtydIiDRfb

M
16. The equivalent conductance of 36 solution of a weak monobasic acid
is 6 mho cm? equivalent ~! and at infinite dilution is 400 mho
em? equivalent ~ 1. The dissociation constant of this acid is
A.1.25 x 1076
B.6.25 x 10 °

C.1.25 x 104

D.6.25 x 10~°

Answer: B

o Watch Video Solution

17. A conductivity cell has been calibrated with a 0.01M, 1:1 electrolytic
solution (specific conductance (/@ =125x10"% § cm_l) in the

cell and the measured resistance was 80012 at 25° C. The cell constant is,

A 10 tem !


https://dl.doubtnut.com/l/_9Xvj2B824sqg
https://dl.doubtnut.com/l/_JN5wcCFk74Gd

B.10'cm !
1

C.lem™

D.5.7 x 102

Answer: C

o Watch Video Solution

18. Conductivity of a saturated solution of a sparingly soluble salt AB (1:1
electrolyte) at 298 K is 1.85 x 10 °Sm ~ . solubility product of the salt
AB at
298K( A% ) 4p = 14 x 10725 m*mol 1.

A.5.7x 107"

B.1.32 x 10~ "2

C.7.5 x 1012

D.1.74 x 1012


https://dl.doubtnut.com/l/_JN5wcCFk74Gd
https://dl.doubtnut.com/l/_2Es5jB4ts1pf

Answer: D

° Watch Video Solution

19. In the electrochemical cell: Zn|ZnS0O4(0.01M)||CuSO4(1.0M)|Cu,
the emf of this Daniel cell is E;. When the concentration of ZNSQOy is
changed to 1.0 M and that CuS0O, changed to 0.01M, the emf changes to

E,. From the followings, which one is the relationship between
E1 and Eg?

A E, < Es

B.E, > Ey

C. E2 =0 2 E1

D. El — E2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2Es5jB4ts1pf
https://dl.doubtnut.com/l/_KFyXFnj2nHFR
https://dl.doubtnut.com/l/_5uuLQaV5X5vc

20. Consider the change in oxidation state of Bromine corresponding to

different emf values as shown in the diagram below:

1.82V 1595V 10652V _
BrO, — BrO5 ——> HBrO — Bry —— Br

Then the species undergoing disproportional is
A. B’f’2
B.BrO,
C. BrOf’1

D. HBrO

Answer: D

° Watch Video Solution

21. For the cell reaction
Fe** (aq) + 217 (aq) — 2Fe’* (aq) + 13(agq)E2, = 0.24V at 298 K.

The standard Gibbs energy (A, G°) of the cell reactions is :

A —46.32 KJ mol ™!


https://dl.doubtnut.com/l/_5uuLQaV5X5vc
https://dl.doubtnut.com/l/_dAvIDUk5usTH

B.—23.16 KJ mol !

C.46.32 KJ mol !

D.23.16 KJ mol !

Answer: A

o View Text Solution

22. A certain current liberated 0.504 gm of hydrogen in 2 hours. How
many grams of copper can be liberated by the same current flowing for
the same time in a copper sulphate solution

A.31.75

B.15.8

C.75

D.63.5

Answer: B

[ - 1


https://dl.doubtnut.com/l/_dAvIDUk5usTH
https://dl.doubtnut.com/l/_zO5xfhhJflKc

| @J Watch Video Solution

23.A gas X at 1 atm is bubble through a solution containing a mixture of

25°C. If the reduction potential of

IMY ™ and 1MZ~ at
Z >Y > X, then
A.Y will oxidize X and not Z
B. Y will oxidize Z and not X
C.Y will oxidize both X and Z

D. Y will reduce both X and Z

Answer: A

° Watch Video Solution

24, Cell equation

A+2B" — A>T + 2B, A*" 42~ - A E° = +0.34V and log}

at 300 K for cell reactions find E° for B" + e~ — B


https://dl.doubtnut.com/l/_zO5xfhhJflKc
https://dl.doubtnut.com/l/_5qZKzxRzfvl9
https://dl.doubtnut.com/l/_beFJLumRQMYV

A.0.80

B.1.26

C.-0.54

D.-10.94

Answer: A

o Watch Video Solution

Evaluation Short Answer Questions

1. Define anode and cathode.

° View Text Solution

2. Why does conductivity of a solution decrease on dilution on the

solution?

| nlll,L,l,\'!,l,, o~ _1_ _an°* _


https://dl.doubtnut.com/l/_beFJLumRQMYV
https://dl.doubtnut.com/l/_5DCCGgvNiafd
https://dl.doubtnut.com/l/_EeLZF02l50Ss
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3. State Kohlrausch Law. How is it useful to determine the

conductivity of weak electrolyte at infinite dilution?

molar

° View Text Solution

4. Describe the electrolysis of molten NaCl using inert electrodes.

° View Text Solution

5. State Faraday's Laws of electrolysis.

° View Text Solution

6. Describe the construction of Daniel cell. Write the cell reaction.

° View Text Solution



https://dl.doubtnut.com/l/_EeLZF02l50Ss
https://dl.doubtnut.com/l/_HUlLA3Ao99XQ
https://dl.doubtnut.com/l/_zMtTU4K9agOW
https://dl.doubtnut.com/l/_b2AWZ6Yd1Exq
https://dl.doubtnut.com/l/_CDqfk10rr8cM

7. Why is anode in galvanic cell considered to be negative and cathode

positive electrode?

o View Text Solution

8. The conductivity of a 0.01 M solution of a 1:1 weak electrolyte at 298 K is
1.5x107* S em ™'

i) molar conductivity of the solution

ii) degree of dissociation and the dissociation constant of the weak
electrolyte

Given that

=2482 S em’mol ?

AO

cation

A° =51.8 S em?mol !

anion

o View Text Solution

0
9. Which of 0.1 M HCl and 0.1 M KCl do you expect to have greater A and
m

why?


https://dl.doubtnut.com/l/_APrmSwFfLQpV
https://dl.doubtnut.com/l/_VrRcDlCKRymY
https://dl.doubtnut.com/l/_ID4e2lkuU2pn

° View Text Solution

10. Arrange the following solutions in the decreasing order of specific

conductance.

i) 0.01 M KCl ii) 0.005 M KCl
iii) 0.1 M KCl iv) 0.25 M KCl
v) 0.5 M KCl

° View Text Solution

1. Why is AC current used instead of DC in measuring the electrolytic

conductance?

° View Text Solution

12.01 M NaCl solution is placed in two different cells having cell constant
0.5 and 0.25 em ~ ! respectively. Which of the two will have greater value

of specific conductance?


https://dl.doubtnut.com/l/_ID4e2lkuU2pn
https://dl.doubtnut.com/l/_dGedgG2XTc2K
https://dl.doubtnut.com/l/_E77BI6eT1c5P
https://dl.doubtnut.com/l/_UGmYhmto3b6R

° View Text Solution

13. A current of 1.608A is passed through 250 mL of 0.5 M solution of

2+ after

copper sulphate for 50 minutes. Calculate the strength of Cu
electrolysis assuming volume to be constant and the current efficiency is

100%.

° View Text Solution

14.Can Fe® T oxidises Bromide to bromine under standard conditions?

Given : E;e“ pare = 0.771
E§r2|Br_ = 1.09V

° View Text Solution

15. Is it possible to store copper sulphate in an iron vessel for a long
time?

Given : E?°

Cur- |cu = 0-34V and Epe. | p. = — 0.44V


https://dl.doubtnut.com/l/_UGmYhmto3b6R
https://dl.doubtnut.com/l/_7yaIPnRnvHSb
https://dl.doubtnut.com/l/_Cp3a9Qls3R4n
https://dl.doubtnut.com/l/_XkTLLaX3zy07

° View Text Solution

16. Two metals M; and M, have reduction potential values of -xV and

+yV respectively. Which will liberate H, and H,50,?

° View Text Solution

17. Reduction potential of two metals M; and M, are

E° =23V and E’

M (M, M | M, = 0.2V Predict which one is better for

coating the surface of iron. Given : E'; — 0.44V

Fe3t |Fe -

° View Text Solution

18. Calculate the standard emf of the cell: Cd|Cd>"||[Cu®"|Cu and
determine the cell reaction. The standard reduction potentials of
Cu’"|Cu and Cd?*|Cdu are 034V and -040 volts respectively.

Predict the feasibility of the cell reaction.

.Y l


https://dl.doubtnut.com/l/_XkTLLaX3zy07
https://dl.doubtnut.com/l/_Ss6FMSJZSGmy
https://dl.doubtnut.com/l/_FkJ4E3zyCv00
https://dl.doubtnut.com/l/_HivxQpCrdPnp

l o VIEW |exXt >olution ]

19.1n fuel cell H, and O, react to produce electricity. In the process, Hy
gas is oxidised at the anode and O, at cathode. If 448 litre of H, at
25°C and also pressure reacts in 10 minutes, what is average current
produced? If the entire current is used for electro deposition of Cu from

Cu?", how many grams of Cu deposited?

o Watch Video Solution

20. The same amont of electricity was passed through two separate
electrolytic cells containing solutions of nickel nitrate and chromium
nitrate respectively. If 2.935 g of Ni was deposited in the first cell. The
amount of Cr deposited in the another cell? Give : molar mass of Nickel

and chromium are 58.74 and 52 gm ~ ! respectively.

o View Text Solution



https://dl.doubtnut.com/l/_HivxQpCrdPnp
https://dl.doubtnut.com/l/_94pJbI3pTo9a
https://dl.doubtnut.com/l/_f25Fd6aXKRIX

21. A copper electrode is dipped in 01 M copper sulphate solution at
25° C. Calculate the electrode potential of copper.
Cu2t |Cu

[Given .E° _ 0.34]

o View Text Solution

22. For the cell

Mg () [Mg*™ (o) || 497 (ag) [A9 )

calculate the equilibrium constant at 25° C and maximum work that can
be obtained during operation of cell. Given :

y — 237V and Ej

Mg+ Mg — Ag?+ |Ag — 0.80V

o View Text Solution

23. 8.2 x 10" litres of water is available in a lake. A power reactor using
the electrolysis of water in the lake produces electricity at the rate of

2 x 106Cs ! at an appropriate voltage. How many years would it like to


https://dl.doubtnut.com/l/_eC0BIWeJiErg
https://dl.doubtnut.com/l/_PAVq6ToWxrQ6
https://dl.doubtnut.com/l/_bxZROIZ49Yl8

completely electrolyse the water in the lake. Assume that there is no loss

of water except due to electrolysis.

° View Text Solution

24. Derive an expression for Nernst equation.

° Watch Video Solution

25. Write a note on sacrificial protection.

° View Text Solution

26. Explain the function of Hy — O, fuel cell.

° View Text Solution



https://dl.doubtnut.com/l/_bxZROIZ49Yl8
https://dl.doubtnut.com/l/_utP3cEJpzb0X
https://dl.doubtnut.com/l/_BCtDA8iqLlYC
https://dl.doubtnut.com/l/_WRGgS8riZDxb

27. lonic conductance at infinite dilution of A** and SOZ_ are 189
and 160 mho cm? equiv~'. Calculate the equivalent and molar

conductance of the electrolyte Aly(SO,), at infinite dilution.

° Watch Video Solution

Evaluate Yourself

1. Calculate the molar conductance of 0.0IM aqueous KC| solution at

25° C. The specific conductance of KCl at 25° C'is 14.114 x 10~ 2Sm '

° Watch Video Solution

2. The resistance of 0.15 M solution of an electrolyte is 50€2. The specific
conductance of the solution is 2.4 Sm ~!. The resistance of 0.5 N solution
of the same electrolyte measured using the same conductivity cell is

48012. Find the equivalent conductivity of 0.5 N solution of the electrolyte.

. l


https://dl.doubtnut.com/l/_CtRVS0PnT3Jb
https://dl.doubtnut.com/l/_5HCBRhpvSlhP
https://dl.doubtnut.com/l/_oMieZoSkCYLz

| ¥ vvatch video sSolution J

3. The emf of the following cell at 25° C is equal to 0.34 V. Calculate the

reduction potential of copper electrode.

Pt(s)|Hy(g, latm) | H " (ag, 1M)HCu2+ (aq, 1M)'Cu(s)

° Watch Video Solution

4. Using the calculated emf value of zinc and copper electrode, calculate
the emf of the following cell at 25° C.

Zn(s) ‘Zn2+ (ag, 1M) ' |C’u2+ (aq, lM)'C’u(s)

° Watch Video Solution

5. Write the overall rendox reaction which takes place in the galvanic cell,

Pt(s) ‘Fe2+ (aq), Fed ™ (aq)HMnOll_ (aq), H " (ag), Mn** (aq)'Pt(s)

° Watch Video Solution



https://dl.doubtnut.com/l/_oMieZoSkCYLz
https://dl.doubtnut.com/l/_cYY3pKBJuVU0
https://dl.doubtnut.com/l/_gUypvkydRQ96
https://dl.doubtnut.com/l/_PChmg8knQYGB
https://dl.doubtnut.com/l/_CRZI6pSWYS9X

6. The electrochemical cell reaction of the Daniel cell is
Zn gy + Cu*™" (ag) — Zn* " (aq) T Cu(s)
What is the change in the cell voltage on increasing the ion

concentration in the anode compartment by a factor 10?7

° Watch Video Solution

7. A solution of a salt of metal was electrolysed for 15 minutes with a
current of 0.15 amperes. The mass of the metal deposited at the cathode

is 0.783 g. Calculate the equivalent mass of the metal.

° Watch Video Solution

Additional Question And Answers Choose The Correct Answer

1. Which one of the following solution has highest equivalent

conductance?


https://dl.doubtnut.com/l/_CRZI6pSWYS9X
https://dl.doubtnut.com/l/_4IhEYWVKHd1C
https://dl.doubtnut.com/l/_PdkWo14HUAjt

A. 01 M Nacl

B. 0.05 M Nacl

C.0.005 M Nacl

D.0.25 M Nadcl

Answer: C

o View Text Solution

2. Pick out the correct statement regarding resistance of an electrolytic

solution

A. It is inversely proportional to the length (I)

B. It is inversely proportional to the cross sectional area (A)

C. It is directly proportional to the cross sectional area (A)

D. Resistivity is denoted by p (rho)

Answer: B



https://dl.doubtnut.com/l/_PdkWo14HUAjt
https://dl.doubtnut.com/l/_JkzhK61TpU9x

| o View Text Solution

3. Which among the folJowing is the strongest reducing agent?

A F,

B.Cl,

C.Zn

D. Li

Answer: D

o Watch Video Solution

4. Which of the statements about electrolytic conductance is not true?

A. Conductivity increases with decrease in viscosity.

B. Higher dielectric constant shows lower conductance in solution.

C. Temperature increases, conductance also increases.


https://dl.doubtnut.com/l/_JkzhK61TpU9x
https://dl.doubtnut.com/l/_dND2vGflu1QJ
https://dl.doubtnut.com/l/_bJFUDPtOCIk9

D. Molar conductance increases with increase in dilution.

Answer: B

° View Text Solution

5. A device in which spontaneous chemical reaction generates electric

current.

A. Galvanic cell

B. Voltanic cell

C. Daniel cell

D. All of the above

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_bJFUDPtOCIk9
https://dl.doubtnut.com/l/_gdvafefqY03U

6. Kohlraush's law is applied to calculate

A. molar conductance at infinite dilution of a weak electrolyte

B. degree of dissociation of weak electrolyte

C. solubility of a sparingly soluble salt

D. all of the above

Answer: D

o View Text Solution

7. The limiting molar conductivities of HCl, CH3COONa and NaCl are
respective 425, 190 and 150 mho cm?mol ! at 25°C. The molar
conductivity of 01 M acetic acid is 9.2 mho em?mol ~!. The degree of

dissociation of 0.1 M acetic acid is

A.0.10

B. 0.02


https://dl.doubtnut.com/l/_P44YHQ8lcvEJ
https://dl.doubtnut.com/l/_Kyrq7p0zo0RY

C.0.19

D.0.03

Answer: C

° View Text Solution

8.Using the data given below find out the strongest reducing agent

Ef, o0 Cr’t =133V, Eg o =136V
Bro- /Mn*" =151V, BGo. o, = — 0.74V
A.Cr
B.Cr3 ™"
c.Cl~
D. Mn?> ™"
Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_Kyrq7p0zo0RY
https://dl.doubtnut.com/l/_J1ACkdkNL817

9. Recharging of lead storage battery involves

A. anode is reduced to pb

B. cathode is reduced to pb

C. cathode is oxidised to pb

D. anode is oxidised to pbO,

Answer: A

o View Text Solution

10. The laws of electrolysis were enunciated first by

A. Dalton

B. Faraday

C. Kekule

D. Avogadro


https://dl.doubtnut.com/l/_J1ACkdkNL817
https://dl.doubtnut.com/l/_5JpQ57RUutkj
https://dl.doubtnut.com/l/_lG41YPxLp6Lh

Answer: B

° View Text Solution

11. What happens during the electrolysis of molten sodium chloride?

A. Cl, is released at the cathode

B. Liquid sodium is obtained at the anode

C. The emf of the overall reaction is -4.07 V

D. Both (a) and (b)

Answer: C

° View Text Solution

12. For the given cell

C’I‘(S)

C’rg(:q) HC’U?L) ‘Cu(s) which is correct?


https://dl.doubtnut.com/l/_lG41YPxLp6Lh
https://dl.doubtnut.com/l/_LmkbMZSek4KE
https://dl.doubtnut.com/l/_w9SwDzxq6SxZ

A. Cr is the anode
B. Cu is the anode
C. Overall cell reaction is
207“?2:(1) +3Cu sy — 2Cr(5) — 2Cr(,) + 3C’u2(2:q)

D. Both (b) and (c)

Answer: A

o View Text Solution

13. When one coulomb of electricity is passed through an electrolytic

solution, the mass deposited on the electrode is equal to

A. equivalent weight

B. molecular weight

C. electrochemical equivalent

D.one gram


https://dl.doubtnut.com/l/_w9SwDzxq6SxZ
https://dl.doubtnut.com/l/_8a7YX4j7N2S2

Answer: C

° View Text Solution

14. Faraday's laws of electrolysis are related to

A. atomic number of the cation

B. atomic number of the anion

C. equivalent weight of the electrolyte

D. speed of the cation

Answer: C

° View Text Solution

15. The specific conductance of a 0.01 M solution of KCI

0.0014 ohm ~! cm ! at 25° C. Its equivalent conductance is ...........


https://dl.doubtnut.com/l/_8a7YX4j7N2S2
https://dl.doubtnut.com/l/_2Fvtygzy1SVx
https://dl.doubtnut.com/l/_blKuEbn6x9yy

A.14 ohm lemPeq !

B.140 ohm lem?eq !
1

C.1.4 ohm lemleq

D.0.40 ohm  ‘emZeq !

Answer: B

o Watch Video Solution

16. When sodium acetate is added to acetic acid, the degree of ionisation

of acetic acid

A. increases

B. decreases

C.does not change

D. becomes zero

Answer: B



https://dl.doubtnut.com/l/_blKuEbn6x9yy
https://dl.doubtnut.com/l/_J9rJaeFVCLuk

| ° View Text Solution

17. The equivalent conductivity of CH3COOH at 25°C is 80

1

ohm " lem?eq™! and at infinite dilution 400 ohm ‘emZeq~!. The

degree of dissociation of CH3COOH is
A1l
B.0.2
C.01

D.0.3

Answer: B

° View Text Solution

18. NH,OH is a weak base because

A. it has low vapour pressure


https://dl.doubtnut.com/l/_J9rJaeFVCLuk
https://dl.doubtnut.com/l/_BpDZgZ7XiiKm
https://dl.doubtnut.com/l/_ZwZ4hNkEZ7NI

B. it is only partially ionised

C.it is completely ionised

D. it has low density

Answer: B

° View Text Solution

19. A, = p, for,

A.Nacl
B. H,S0,
C. NCL2:SO4

D. Aly(S0,),

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_ZwZ4hNkEZ7NI
https://dl.doubtnut.com/l/_VpmaWUFF3gx6
https://dl.doubtnut.com/l/_FmCdXIEhBuwo

20. An example for 1:1 electrolyte is

A H,S50,
B. Na2SO4
C. Nacl

D. Al,(SO,),

Answer: C

o View Text Solution

21. The important use of Kohlrausch's law is deducing the

A. A, value of weak electrolyte.
B. A value of strong electrolyte.
C. A¢ value of weak electrolyte.

D. A¢ value of weak electrolyte.


https://dl.doubtnut.com/l/_FmCdXIEhBuwo
https://dl.doubtnut.com/l/_rv7fGh3NxM3L

Answer: A

° View Text Solution

22. According to Faradays's first law m = ZIt, where Z is

A. reaction quotient

B. effective nuclear charge

C. atomic number

D. electrochemical equivalent

Answer: D

° View Text Solution

23. Ohm's law is mathematically expressed as

al=L
R


https://dl.doubtnut.com/l/_rv7fGh3NxM3L
https://dl.doubtnut.com/l/_9SnUOu4sPM5o
https://dl.doubtnut.com/l/_25HMMzxTWGYl
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Answer: A

° View Text Solution

24.1 mho is equal to

A. 1siemen
B. 1second

C.1ohm

D. none of the above

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_25HMMzxTWGYl
https://dl.doubtnut.com/l/_7gR60mgzjEWt
https://dl.doubtnut.com/l/_6q4yqdTXgTo3

25. Which among the following has same equivalent and molar

conductance

A . H,S50,

B.CH;COOH

C.NaCl

D. Na2504

Answer: C

o View Text Solution

26.When ), decreases linearly with increase in 4/C, then it is

A. an insulator
B. a semiconductor
C. a weak electrolyte

D. a strong electrolyte


https://dl.doubtnut.com/l/_6q4yqdTXgTo3
https://dl.doubtnut.com/l/_zYQX2DpJrBYw

Answer: D

° View Text Solution

27. Debye, Huckel and Onsager equation for strong electrolytes is

Ae = Aso (A + BA 4 )+/C. The slope value is

Ao
B.(A + BAo)

C.A

D./C

Answer: B

° View Text Solution

28. lonic conductance at infinite dilution of A>T and SO~ are 1890

1 1

ohm lem?gm equiv! and 16000hm ~tem?gm equiv respectively.


https://dl.doubtnut.com/l/_zYQX2DpJrBYw
https://dl.doubtnut.com/l/_W4ApfEmXHCcD
https://dl.doubtnut.com/l/_8iHCzYwNGc6Z

The equivalent conductance is

A.143 mho em?gm equiv !

B. 858mho cm2gm equir !
C.153 mho cm2gm equiv !

D.341mho em?gm  equir ~*

Answer: A

o View Text Solution

29.If 0.2 ampere can deposit 0.1978 g of copper in 50 minutes, how much

of copper will be deposited by 600 coulombs?

A.19.78 g

B.1978 g

C.01978 g

D.1978 g


https://dl.doubtnut.com/l/_8iHCzYwNGc6Z
https://dl.doubtnut.com/l/_cZO9Z2MTSZt8

Answer: C

° View Text Solution

30. The potential of a single electrode is a half cell is called the

A. Reduction potential

B. Half-wave potential

C.Single electrode potential

D. Cell potential

Answer: C

° View Text Solution

31. The relationship between free energy change and emf of a cell is

A.AG = —nFE


https://dl.doubtnut.com/l/_cZO9Z2MTSZt8
https://dl.doubtnut.com/l/_rN9rohV2WEfD
https://dl.doubtnut.com/l/_QAMcEklHrU8d

B.AH = — nFFE

C.AFE = —nFG

D.AF = — nFQG

Answer: A

° View Text Solution

32.The feasibility of a redox reaction can be predicted with the help of

A. Electronegativity

B. Electrochemical series

C. Electron affinity

D. Equivalent conductance

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_QAMcEklHrU8d
https://dl.doubtnut.com/l/_fyPhlXtQr1OB
https://dl.doubtnut.com/l/_2ev3NW3wt3XP

33. The metals near the bottom of the electro chemicals series are

A. strong reducing agents

B. strong oxidising agents

C. weak reducing agents

D. weak oxidising agents

Answer: A

o View Text Solution

34. The emf of a cell with T M solutions of reactants and products in

solution at 25° C' is called

A. Half cell potential

B. standard emf

C.Single electrode potential

D. Redox potential


https://dl.doubtnut.com/l/_2ev3NW3wt3XP
https://dl.doubtnut.com/l/_LmWveKSXtcRJ

Answer: B

° Watch Video Solution

35. The relationship between equilibrium constant and standard emf of a

cell is

A.E° = 0.0591 log K

B.0.0591E° = log K

C.nE° = 0.0951log K

D.nE° = 0.05911log K

Answer: D

° View Text Solution

36. Calculate the standard emf of the cell, provided the standard

reduction potentials of cathode and anode are -0.763 V and 0.80 V.


https://dl.doubtnut.com/l/_LmWveKSXtcRJ
https://dl.doubtnut.com/l/_dtFMV3BAhnRC
https://dl.doubtnut.com/l/_WeQonX0YDY2R

A.-1.563 V

B. 0.037V

C. —0.610V

D. None of these

Answer: A

o View Text Solution

37. How will you predict whether a reaction is not feasible?

A. E;u = — ve
B. ECZH = + ve
C. EC‘;H =0

D. both (a) and (c)

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_WeQonX0YDY2R
https://dl.doubtnut.com/l/_SinX6Px8aqN0

38. The condition to obtain standard emf is

A. 1M solution of reactants and products

B.25°C

C.both (a) and (b)

D. neither (a) and (b)

Answer: C

o View Text Solution

39. What is/are the factor(s) that govern the single electrode potential of

a half cell?

A. concentration of ions in solution

B. tendency to form ions

C. temperature


https://dl.doubtnut.com/l/_SinX6Px8aqN0
https://dl.doubtnut.com/l/_pjcE1S68X6UR
https://dl.doubtnut.com/l/_hNgHJVDtyJja

D. all of these

Answer: D

° View Text Solution

40. How many half cells are present in an electrochemical cell?

A3

B.4

C.2

D.6

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_hNgHJVDtyJja
https://dl.doubtnut.com/l/_8JCbnkYvs0Dr

41. Calculate the equilibrium constant for the reaction between silver

nitrate and metallic zinc.

A 6.19 x 10°2

B. 619 x 10°2

C.0.619 x 10%

D.6.19 x 10%

Answer: A

o Watch Video Solution

42. In which of the following processes, electrical energy is converted to

chemical energy?

A. Purification of metals

B. Generation of gases

C. Electroplating


https://dl.doubtnut.com/l/_Q3ejUEOSjxRE
https://dl.doubtnut.com/l/_38nwpBQGadns

D. All of the above

Answer: D

° View Text Solution

43. The electrode where there is loss of electron is called

A. cathode

B. anode

C.salt bridge

D. both (a) and (b)

Answer: B

o View Text Solution

44.In an electrochemical cell, the wrong statement is


https://dl.doubtnut.com/l/_38nwpBQGadns
https://dl.doubtnut.com/l/_4Nzf9kfuYgHO
https://dl.doubtnut.com/l/_4AWKKDFujIiH

A. electrons move from cathode to anode.

B. anode is negative charged

C. cathode is positive charged

D. chemical energy is converted to electrical energy.

Answer: A

o View Text Solution

45.The overall reaction that takes place in an electrochemical cell is

A. oxidation

B. reduction

C. decomposition

D. redox reaction

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_4AWKKDFujIiH
https://dl.doubtnut.com/l/_Kd7qXHI2Xjkr

46. Which of the following statement is wrong with regard to galvanic

cell?

A. Reduction takes place at cathode

B. Reduction takes place at anode

C. Oxidation takes place at anode

D. Cathode is positively charged

Answer: B

o View Text Solution

47.1n the cell representation (+) represents

A. salt bridge

B. phase boundary

C. cathode


https://dl.doubtnut.com/l/_Kd7qXHI2Xjkr
https://dl.doubtnut.com/l/_oDqo1jXitLfJ
https://dl.doubtnut.com/l/_cwuUiGMDOQtz

D. anode

Answer: B

° View Text Solution

48. The standard conditions for determination of standard emf of the cell

are

A. IM solution of the reactant

B. temperature of 25° C

C. both (a) and (b)

D. none of these

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_cwuUiGMDOQtz
https://dl.doubtnut.com/l/_BsbHxSy6GfAG

49.The emf generated by an electrochemical cell is given by the symbol

A E
B.M
C.F

D.S

Answer: A

o View Text Solution

50. The maximum work that can be derived from a chemical reaction is

AW, =AH
B. W = AG
C.Woae = AE

D. W = AS


https://dl.doubtnut.com/l/_wXbhtrermvJS
https://dl.doubtnut.com/l/_KXo0AnAScZ1f

Answer: B

° View Text Solution

Additional Question And Answers Fill In The Blanks

1. Unit of resistivity is

A. ohm metre
B. siemen
-1

C.sm

D. mho

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_KXo0AnAScZ1f
https://dl.doubtnut.com/l/_jwkG0sPcp2FY

2. The quantity of charge required to obtain 1 mole of aluminium from

B.3F

C. 6F

D.12F

Answer: B

o View Text Solution

3. The reciprocal of specific resistance is called

A. conductance

B. specific conductance

C. conductivity

D. both (b) and (c)


https://dl.doubtnut.com/l/_ezE1Bd4nJ38E
https://dl.doubtnut.com/l/_o6dSlBUpH6tZ

Answer: D

° View Text Solution

4.The cell constant of a conductivity cell is

Al Xa

N

O
| ol —~|e

Answer: C

° View Text Solution

5.Zn ) /an(:q) HC’uz(:q) [ Cu )

In the above cell diagram, the single vertical line represents


https://dl.doubtnut.com/l/_o6dSlBUpH6tZ
https://dl.doubtnut.com/l/_40w5r6EYHIZa
https://dl.doubtnut.com/l/_s4kfxoHIv7KI

A.salt bridge

B. Cathode

C. Anode

D. Phase boundary

Answer: D

o View Text Solution

6.The electrical energy produced by a cell equals

A Ecathode - Eanode

Charge of electrons
Ecell

C. Charge of electrons x E.

Ecen
" Charge of electrons

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_s4kfxoHIv7KI
https://dl.doubtnut.com/l/_NLp2ocxStE7G

7.1F equals to

A. 96500 moles

B. 96500 C

Cc.1.6 x 10" ¥¢C

D.1.6 x 10~ moles

Answer: B

° View Text Solution

8. Leclanche cell is

A. primary battery

B. secondary battery

C.rechargeable


https://dl.doubtnut.com/l/_NLp2ocxStE7G
https://dl.doubtnut.com/l/_ws9RGe9dZKH0
https://dl.doubtnut.com/l/_BLlTfquDaU3a

D. Both (b) and (c)

Answer: A

° View Text Solution

9.The S.I unit of cell potential is

A.ohm

B. volt

C. ampere

D. mho

Answer: B

° View Text Solution

10. The cathode in Leclanche cell is



https://dl.doubtnut.com/l/_BLlTfquDaU3a
https://dl.doubtnut.com/l/_KFFDyLRs0dxm
https://dl.doubtnut.com/l/_g7OQ8giCYbra

A. Zinc container

B. Spongy lead

C. Graphite rod in contact with MnO,

D. HgO mixed with graphite

Answer: C

o View Text Solution

11. Standard electrode potential of Sn** /Sn*>* couple is +0.15 V and
that of Cr®** /Cr is 0.85 V. When connected, the cell potential will be

A 110V

B.1.00V

C.0.70V

D.030V

Answer: B



https://dl.doubtnut.com/l/_g7OQ8giCYbra
https://dl.doubtnut.com/l/_h5nVN4aINy4K

| ° View Text Solution

12. The reaction that takes place in the cathode half cell in a Galvanic cell

A. oxidation

B. reduction

C.redox

D. hydrolysis

Answer: B

° View Text Solution

13. The cell voltage depends on

A. nature of the electrodes

B. concentration of the electrolytes


https://dl.doubtnut.com/l/_h5nVN4aINy4K
https://dl.doubtnut.com/l/_qro7eb2luOrH
https://dl.doubtnut.com/l/_1DRcJvbng2g0

C. temperature

D. all of the above

Answer: D

° View Text Solution

14. When two half cells of Daniel cell is connected, a spontaneous

reaction takes place resulting in the flow of electrons from

anode to cathode

A. reduction

B. oxidation

C.redox

D. hydration

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_1DRcJvbng2g0
https://dl.doubtnut.com/l/_PJ9zbWpm0cgD

15. The basis of kohlraush's law is

A. molar conductance at infinite dilution of a weak electrolyte

B. limitating molar conductance

C. specific conductance

D. limiting specific conductance

Answer: B

o View Text Solution

16. When a zinc metal strip is placed in a copper sulphate solution the
blue colour of the solution fades and copper is deposited on the zinc
strip as red - brown crust. The oxidation half cell reaction of the above

process is represented as

A Cuz(:q) +2e” — Cugy)


https://dl.doubtnut.com/l/_PJ9zbWpm0cgD
https://dl.doubtnut.com/l/_JSuK0o21NVEv
https://dl.doubtnut.com/l/_tQvGc66RCa1H

B.Cu(s) — Cu’" + 2e~
2 —
C.Zn(s) — Z’n(l_q) + 2e

D. Zn>*

(aq) + 26_ — Zn(s)

Answer: C

° View Text Solution

17. The empirical relationship between molar conductance and

concentration of the electrolyte C is

D. Ay, = NS + VEC

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_tQvGc66RCa1H
https://dl.doubtnut.com/l/_LU2CiiyC1Bb2

18. Metals at the top of the electrochemical series are

A. strong hydrating agents
B. strong dehydrating agents
C.strong reducing agents

D. strong oxidising agents

Answer: D

o View Text Solution

19. Low molar conductivity at high concentration is due to

A. High attractive force between oppositively charged ions
B. Viscous drag due to greater solvation
C.both (a) and (b)

D. Neither (a) nor (b)


https://dl.doubtnut.com/l/_LU2CiiyC1Bb2
https://dl.doubtnut.com/l/_pCY16wQ9C2MX
https://dl.doubtnut.com/l/_AgoQMWXbrbIW

Answer: C

° View Text Solution

o .
20. A NHOH 'S .
o _ o o _ o
A. /\NH4OH - /\NH4Cl + /\NaOH /\NaCl
o — o _ o _ o
B. /\NH4OH - /\NH4CI /\NaOH /\NaCl
o _ o o _ o
C. /\NH4OH - /\NH4OH + /\NaCl /\NaCl
[e] _ o o _ o
D. /\NH4OH - /\NH4Cl + /\NaCl /\NaOH
Answer: A

° View Text Solution

21. Degree of dissociation of pure water is 2.8 x 10~ ?, Molar ionic

conductance of H and OH ~ ions at infinite dilution are 300 and 350 S

cm? respectively. The molar conductance of water is


https://dl.doubtnut.com/l/_AgoQMWXbrbIW
https://dl.doubtnut.com/l/_1WR8qGiXoZcD
https://dl.doubtnut.com/l/_Djj7H32UdYnU

A15x%x10°%S cem?mol !

B.2.8 x 10°°S em?mol !

C.1.82x10°%S em?mol !

D.3.8 x 10°%S em2mol !

Answer: C

o View Text Solution

22. Debye constants A and B depend on

A. nature of the solvent

B. temperature

C. concentration of the solvent

D. both (a) and (b)

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_Djj7H32UdYnU
https://dl.doubtnut.com/l/_cmzMhHSs2JvZ

23.The electrolyte used in mercury button cell is

A. KOH and ZnO

B. NH,Cl and ZnCl, in water

C.38 % H,S0,

D. Li salt in organic solvent

Answer: A

o View Text Solution

24.The battery used in pacemakersis

A. Lead storage battery

B. Daniel cell

C. Leclanche cell


https://dl.doubtnut.com/l/_cmzMhHSs2JvZ
https://dl.doubtnut.com/l/_LrvXuVshK8EX
https://dl.doubtnut.com/l/_EP0B6HGi6ucX

D. Mercury button battery

Answer: D

° View Text Solution

25. Rust is a mixture of

A. F6203 + Fe(OH)3
B. Fe + H2O + 02
C.FeO + Fe(OH),

D.Fe + Fe(OH),

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_EP0B6HGi6ucX
https://dl.doubtnut.com/l/_tihz8pQAfQhQ

26. The metal to be protected from corrosion is treated with conc HNOs.

The process is called

A. galvanzing

B. passivation

C. cathodic protection

D. formation of alloys

Answer: B

o View Text Solution

27. The process in which chemical change occurs on passing electricity is

termed as

A. neutralisation

B. hydrolysis

C. electrolysis


https://dl.doubtnut.com/l/_32rQyeCbAoti
https://dl.doubtnut.com/l/_aAOLy8yGt8H1

D. ionisation

Answer: C

° View Text Solution

28. is the reciprocal of resistance.

A. specific conductance

B. molar conductance

C. specific resistance

D. conductance

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_aAOLy8yGt8H1
https://dl.doubtnut.com/l/_2VLd1gGiPHDE

29. In Daniel cell, the charges developed by Zn/Zn?>" and Cu/Cu?®*
A. positive, positive
B. negative, negative
C. positive, negative

D. negative, positive

Answer: D

o View Text Solution

30. Oxidation takes place at

A. anode, cathode

B. cathode, anode

C.anode

D. cathode


https://dl.doubtnut.com/l/_eNdi9psnfu91
https://dl.doubtnut.com/l/_5BaUiuVtGm5Z

Answer: A

° View Text Solution

31.The inert electrode is

A. Cu

B. Pt

C.Zn

D. None of these

Answer: B

° View Text Solution

32. The electrochemical process is carried out in a device called

A. cell


https://dl.doubtnut.com/l/_5BaUiuVtGm5Z
https://dl.doubtnut.com/l/_ExyAXmFNO7Gx
https://dl.doubtnut.com/l/_Q9OkWwXLQvQz

B. cathode

C.anode

D. electrode

Answer: A

° View Text Solution

33. The cell in which electrical energy is used to bring about chemical

change is known as

A. electrolytic cell

B. galvanic cell

C. voltaic cell

D. dynamo

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_Q9OkWwXLQvQz
https://dl.doubtnut.com/l/_NHV9ZFQGLSKB

34.The cell potential E q is

AES =E°  —E°

cathode anode

B.ES, = E2 . — ES

anode cathode

C. ECZH = ECZH — 0.0591 log K
0.0591
D. B — log K
Answer: D

o View Text Solution

35. The emf of the cell is meausred in __

A.ohm

B. amperes

C.volts

D. coulomb


https://dl.doubtnut.com/l/_NHV9ZFQGLSKB
https://dl.doubtnut.com/l/_CSTp02ZTBqyA
https://dl.doubtnut.com/l/_5TGxIM4R4PNy

Answer: C

° View Text Solution

36. The electrode where there is gain of electrons is called

A. cathode

B. anode

C. electrode

D. both (b) and (c)

Answer: A

° View Text Solution

37. An example of secondary cell is

A. Daniel cell


https://dl.doubtnut.com/l/_5TGxIM4R4PNy
https://dl.doubtnut.com/l/_Fy7Dv8TGX2h0
https://dl.doubtnut.com/l/_2Q2qqRIy5WKk

B. galvanic cell

C. lead acid accumulator

D. dynamo

Answer: C

° View Text Solution

38. The zinc - copper cell has emf of

A1V

B.21V

c.11v

D.—1.1V

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_2Q2qqRIy5WKk
https://dl.doubtnut.com/l/_bih1emOdkELF
https://dl.doubtnut.com/l/_mNN1uPhW4imo

39. When the emf of the cell is determined under standard conditions, it

is called as

A. single electrode emf

B. standard emf

C.individual emf

D. half cell emf

Answer: B

o View Text Solution

40. For gases, the standard emf depends on __

A.1atm pressure
B. 1 M solution
C. temperature of 25°C

D. both (a) and (c)



https://dl.doubtnut.com/l/_mNN1uPhW4imo
https://dl.doubtnut.com/l/_giR0ZHG5fNHr

Answer: D

° View Text Solution

41. The emf of the unknown half cell is

A Emeasured - ER - EI

B. Emeasured = EL - ER

C Emeasured = —nFE
RT
D. Emeasured - EO - Tlog
Answer: A

° View Text Solution

42.SHE is

A. Standard Helium Electrode


https://dl.doubtnut.com/l/_giR0ZHG5fNHr
https://dl.doubtnut.com/l/_BvAUoOE2zASt
https://dl.doubtnut.com/l/_z6NS95G6TM9X

B. Standard Hydrogen Electrode

C.Standard Mercury Electrode

D. none of these

Answer: B

° View Text Solution

43.The gas that bubbles over the platinum electrode in SHE is

A. hydrogen

B. helium

C. neon

D. oxygen

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_z6NS95G6TM9X
https://dl.doubtnut.com/l/_6kFJJXRYOVh7
https://dl.doubtnut.com/l/_hKV7rSJm2MU3

44, The feasibility of a redox reaction can be predicted with the help of
A. Reduction potential
B. oxidation potential
C. electrochemical series

D. standard emf

Answer: C

° View Text Solution

Additional Question And Answers Assertion Reason

1. Assertion : Molar conductance increases with increase in dilution.

Reason : For a strong electrolyte, interionic forces of attraction increase

with dilution


https://dl.doubtnut.com/l/_hKV7rSJm2MU3
https://dl.doubtnut.com/l/_6AF3A7bYEaIR

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o View Text Solution

2. Assertion : For measurement of specific resistance of a metallic wire, AC

current is used.

Reason : This is to prevent electrolysis

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_6AF3A7bYEaIR
https://dl.doubtnut.com/l/_fVHUaiVwukzJ

Answer: A

o View Text Solution

3. Assertion : Increase in temperature, decreases conductance

Reason : This is due to the increase in the attractive forces between the

oppositely charged ions

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_fVHUaiVwukzJ
https://dl.doubtnut.com/l/_D6U7CUf6XtAl

4. Assertion : The electrolysis of aqueous NaCl gives hydrogen at the

cathode and chlorine at the anode

Reason : Chlorine has higher oxidation potential than water

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° View Text Solution

5. Assertion : For a strong electrolyte, higher the concentration, lower the
molar conductivity

Reason : The plot of A,, V;+/C is not linear one for a weak electrolyte

A. (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_F0MmjZ4oSC40
https://dl.doubtnut.com/l/_DERLGjRhoCC6

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o View Text Solution

6. Assertion : Copper sulphate can be kept in a zinc vessel

Reason : The position of copper is higher than zinc in the electro

chemical series

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

[ - 1


https://dl.doubtnut.com/l/_DERLGjRhoCC6
https://dl.doubtnut.com/l/_hM4yt8pxINW0

| J View Text Solution J

7. Assertion : Galvanisation of iron protects it from rust

Reason : Zinc had lower reduction potential than iron

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o View Text Solution

8. Assertion : Standard hydrogen electrode (SHE) is assigned an emf of
zero arbitarily

Reason : SHE can act as cathode only


https://dl.doubtnut.com/l/_hM4yt8pxINW0
https://dl.doubtnut.com/l/_L4jXqfhaH6zg
https://dl.doubtnut.com/l/_MxRaemW39Jmc

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o View Text Solution

9. Assertion : In Daniel cell, oxidation takes place at the zinc electrode

Reason : To maintain electrical neutrality in the anode and cathode

compartment, a salt bridge is used

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_MxRaemW39Jmc
https://dl.doubtnut.com/l/_DQUm9xi9K5ya

Answer: B

o View Text Solution

10. Assertion : Formation of rust requires both oxygen and water.

Reason : The oxidising tendency of iron can be reduced by formation of

its alloy with anodic metals

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_DQUm9xi9K5ya
https://dl.doubtnut.com/l/_oLdIe2ceF6n9

1. Assertion : The relationship between AG and emf of cell is

AG = — FE

Reason : In the Nernst equation, 'n' denotes number of protons.

A. (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) does not explain (A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

° View Text Solution

Additional Question And Answers Very Short Answer

1. Give the mathematical expression of ohm's law.

° View Text Solution



https://dl.doubtnut.com/l/_4ZVO49Cr00ma
https://dl.doubtnut.com/l/_xgXpYBsBoKvD

2. Define resistance. Give its mathematical expression.

o View Text Solution

3. Define resistivity.

o View Text Solution

4.Two electrodes having cross sectional area of A and are separated by a

distance |. What is the ratio of length by area called?

o View Text Solution

5. Define conductance. Give its unit.

o View Text Solution



https://dl.doubtnut.com/l/_vXEmSfcD4nh1
https://dl.doubtnut.com/l/_cOIHPXEnjYqN
https://dl.doubtnut.com/l/_foFD4qLYCceq
https://dl.doubtnut.com/l/_IbrRpkjMQ93R

6. Define specific conductance.

° View Text Solution

7. Give a mathematical expression that relates cell constant, specific

conductance and specific resistance.

° View Text Solution

8. Derive the unit of specific conductance.

° View Text Solution

9. For a uni - univalent electrolyte, write the Debye - Huckel Onsagar

equation.

° View Text Solution



https://dl.doubtnut.com/l/_isl24d6ota3H
https://dl.doubtnut.com/l/_4Hrpwpowsngp
https://dl.doubtnut.com/l/_qH2Rois2CWvg
https://dl.doubtnut.com/l/_h8seVojDztZe
https://dl.doubtnut.com/l/_snWCCUptYbLx

10. Give the empirical relationship between molar conductance and

concentration of the electrolyte.

° View Text Solution

11. Account for the following : For a strong electrolyte molar conductivity

decreases as concentration increases.

° View Text Solution

12. Molar conductivity increases with dilution. Is the above statement

true? Justify your answer

° View Text Solution

13. On dilution of 0.1 M of Na,S0,, what will happen to its

(a) Conductance (C)


https://dl.doubtnut.com/l/_snWCCUptYbLx
https://dl.doubtnut.com/l/_qnsAJv7FZGgM
https://dl.doubtnut.com/l/_CjacwysViBNP
https://dl.doubtnut.com/l/_bkkwgPRuCDFZ

(b) Conductivity K
(c) Molar conductance A,

(d) Equivalent conductance A

° View Text Solution

14. Give the expression that relates molar conductivity and degree of

dissociation.

° View Text Solution

15. Express Kohlraush's law for molar conductance of a uni - univalent

electrolyte NaCl.

° View Text Solution

16. Apply Kohlraush's law and determine the limiting molar conductivity

of


https://dl.doubtnut.com/l/_bkkwgPRuCDFZ
https://dl.doubtnut.com/l/_PuOegSyQU7Oo
https://dl.doubtnut.com/l/_JQ95OSgReMTZ
https://dl.doubtnut.com/l/_Ph7pTVc3oW5R

BaCl2

° View Text Solution

17. Apply Kohlraush's law and determine the limiting molar conductivity of

Aly(S0y),

° View Text Solution

18. What is meant by limiting molar conductivity?

° View Text Solution

19. What is a electro chemical cell?

° View Text Solution

20. What type of cell is a Daniel cell?


https://dl.doubtnut.com/l/_Ph7pTVc3oW5R
https://dl.doubtnut.com/l/_2ibvxYrCSem0
https://dl.doubtnut.com/l/_YOP9RAC50ZfR
https://dl.doubtnut.com/l/_xri9b2megt8y
https://dl.doubtnut.com/l/_PIXoo3TPyWtU

° View Text Solution

21. Explain the function of a salt bridge in an electrochemical cell.

° View Text Solution

22.What are the factors on which cell potential depends?

° View Text Solution

23. Give the uses of mercury button cell.

° View Text Solution

24. Why is the electrode potential of a single electrode cannot be

determined?

° View Text Solution



https://dl.doubtnut.com/l/_PIXoo3TPyWtU
https://dl.doubtnut.com/l/_2ncvzomTA86J
https://dl.doubtnut.com/l/_tYTUcxDtR3AV
https://dl.doubtnut.com/l/_jm1qKJM06dbd
https://dl.doubtnut.com/l/_I58tWbWxh8iD

25. What is the value of Faraday constant? Define it.

° View Text Solution

26. Define electrolysis.

° View Text Solution

27. Define electrochemical equivalent.

° Watch Video Solution

28. How much amount of a substance is deposited by 1 coulomb? What is

it called?

° View Text Solution



https://dl.doubtnut.com/l/_I58tWbWxh8iD
https://dl.doubtnut.com/l/_kJIgN7CpjgE7
https://dl.doubtnut.com/l/_XMZF7QI3hv73
https://dl.doubtnut.com/l/_iKN8ufJfUhWY
https://dl.doubtnut.com/l/_k9xYUXiKR7QC
https://dl.doubtnut.com/l/_fpBM9UXx6ZDR

29. What are the two types of batteries?

° View Text Solution

30. What are primary cells?

° View Text Solution

31. What is the anode, cathode and electrolyte of a mercury button cell?

° View Text Solution

32. What are secondary cells?

° View Text Solution



https://dl.doubtnut.com/l/_fpBM9UXx6ZDR
https://dl.doubtnut.com/l/_74x1LEUoPDMy
https://dl.doubtnut.com/l/_eskrB7KyQL2C
https://dl.doubtnut.com/l/_5GJRXCvXqea4

33. What is the principle used in secondary batteries to regenerate the

original reactants?

° View Text Solution

34. Write the anode, cathode and electrolyte of lead storage battery.

° View Text Solution

35.What is the emf developed by a single lead storage battery?

° View Text Solution

36.On what does the emf of a lead storage battery depend?

° View Text Solution



https://dl.doubtnut.com/l/_n2g8yIz8eafy
https://dl.doubtnut.com/l/_uXPC88Qed2CC
https://dl.doubtnut.com/l/_556JhljCm4xL
https://dl.doubtnut.com/l/_HxPHaRmso7Fi

37. Give examples of primary cells.

° View Text Solution

38. Give an example of secondary cell.

° View Text Solution

39. Name the anode, cathode and electrolyte used in lithium - ion Battery.

° View Text Solution

40. Write the oxidation, reduction and overall redox reaction taking place

in the Lithium ion battery.

° View Text Solution



https://dl.doubtnut.com/l/_vIvtWdLW2xRi
https://dl.doubtnut.com/l/_UKkNTMLAwjo5
https://dl.doubtnut.com/l/_NIxWaAVI5qAe
https://dl.doubtnut.com/l/_slgs0gmQhJ7w

41. What is known as intercalation?

° View Text Solution

42. What is a fuel cell?

° View Text Solution

43. Write a note on galvanising.

° View Text Solution

44. Explain how iron is protected from corrosion by coating with

magnesium.

° View Text Solution



https://dl.doubtnut.com/l/_15h2lhFBj7au
https://dl.doubtnut.com/l/_oRUeXXwRl7iy
https://dl.doubtnut.com/l/_nqGHTYRCf3B1
https://dl.doubtnut.com/l/_hQGqC8v3KMOj

45.What is meant by corrosion ?

o Watch Video Solution

46. What is passivation?

° View Text Solution

47. What is standard reduction potential E°?

° View Text Solution

48. What is an electrochemical series?

° View Text Solution



https://dl.doubtnut.com/l/_9S96xvFjxHsT
https://dl.doubtnut.com/l/_7AzYZsWBrtn2
https://dl.doubtnut.com/l/_QC1GyFfwrCpg
https://dl.doubtnut.com/l/_IIDZY5gaiIN7

49. Higher the standard reduction potential lesser is corrosion. Give

reason.

o View Text Solution

50. Define electrochemical equivalent.

o Watch Video Solution

51. How are specific and equivalent conductances related?

o View Text Solution

52. Write the cell reaction for the half cell C'l (ag) [ AgCl ) Ag.

o Watch Video Solution



https://dl.doubtnut.com/l/_7usTNmDkPVqy
https://dl.doubtnut.com/l/_gZfAJ8m2f00Q
https://dl.doubtnut.com/l/_oNE8IWcuopRL
https://dl.doubtnut.com/l/_zzTs6hldURPo

53. The standard reduction potentials of Fe3" /Fe and Fe?" /Fe
electrode system are -0.035 V and -0.44 V respectively. Predict which of

the two oxidations is easy. Fe** /Fe and Fe®' /Fe.

° View Text Solution

54. What is single electrode potential?

° View Text Solution

55. Define standard emf of a cell.

o Watch Video Solution

56. Write the Nernst equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_WJjZOPaWhAYF
https://dl.doubtnut.com/l/_zuRrZp7W7Qz1
https://dl.doubtnut.com/l/_6DbTxb7rEW6o
https://dl.doubtnut.com/l/_C7F8rOqYNTw2

Additional Question And Answers Short Answer

1. Answer the following question with regard to specific resistance.

How is specific resistance represented?

° View Text Solution

2. Answer the following question with regard to specific resistance.

What does specific resistance depend on?

° View Text Solution

3. Answer the following question with regard to specific resistance.

What is the reciprocal of specific resistance? How is it denoted.

° View Text Solution



https://dl.doubtnut.com/l/_prgl2Lrg23OI
https://dl.doubtnut.com/l/_p2a89Bm4wWrN
https://dl.doubtnut.com/l/_ffE8vBxJ32w8

4. Answer the following question with regard to specific resistance.

What is the unit of resistivity?

° View Text Solution

5. Define molar conductance.

° View Text Solution

6. Define equivalent conductance.

° View Text Solution

7. 01 M solution of two electrolytes P and Q have specific conductance
4x107* S em™! and 6x107% S em ™!  respectively.  Which
among the following will have greater resistance to the flow of current?

Give reason.

| e |


https://dl.doubtnut.com/l/_OrYDz0uaTvIr
https://dl.doubtnut.com/l/_8zPBViOWb1Wr
https://dl.doubtnut.com/l/_BAVDOFJEc6XK
https://dl.doubtnut.com/l/_RzIEoWoJEddY

| & View Text Solution I

8. What is the oxidation and reduction half cell in a Daniel cell?

° View Text Solution

9. From the below graph, Explain the variation of molar conductance of a

weak electrolyte with decrease in concentration.

&2

° View Text Solution

10. How are electro chemical cells classified? Explain.

° View Text Solution



https://dl.doubtnut.com/l/_RzIEoWoJEddY
https://dl.doubtnut.com/l/_xArhqgGyJOEu
https://dl.doubtnut.com/l/_iDu80wbSjTBV
https://dl.doubtnut.com/l/_IXIzs4d32xGw

11. Give the oxidation and reduction half cell reaction taking place in the

Daniel cell.

° View Text Solution

12. Write the cell representation of the galvanic cell in which the following
reaction take place
Zn(s) + CuSO4 — ZnSO4 + Cu 4

For the above cell. Identify the anode and cathode half cell.

° View Text Solution

13. Explain the IUPAC convention of representing a Galvanic cell.

° View Text Solution

14. Explain the relationship between free energy of the cell and its emf.

| e |


https://dl.doubtnut.com/l/_TKMLSufaY5Uc
https://dl.doubtnut.com/l/_X0ghDtMmAlwm
https://dl.doubtnut.com/l/_PjPDFOmGedO7
https://dl.doubtnut.com/l/_eO6OvkdGTgKc

I & View Text Solution

15. Leclanche cell is a non-rechargeable cell. Answer the questions below
with respect to Leclanche cell.

(i) Anode

(ii) Cathode

(iii) Electrolyte

(iv) Oxidation half cell reaction

(v) Reduction half cell reaction

° View Text Solution

16. Why does the emf of Leclanche cell decrease?

° View Text Solution

17. Write the reactions taking place in anode and cathode of a mercury

button cell. Give the over all redox reaction of the cell with the emf


https://dl.doubtnut.com/l/_eO6OvkdGTgKc
https://dl.doubtnut.com/l/_RD6DLFhjTGbU
https://dl.doubtnut.com/l/_CfG3cbMSiHIa
https://dl.doubtnut.com/l/_GLOajlcIRcpD

generation.

° View Text Solution

18. Explain the reactions taking place in the anode and cathode of a lead

storage battery.

° View Text Solution

19. Explain the process of recharging of lead storage battery.

° View Text Solution

20. Corrosion of aluminum takes place at a much slower rate than iron.

Give reason.

° View Text Solution



https://dl.doubtnut.com/l/_GLOajlcIRcpD
https://dl.doubtnut.com/l/_0TcfMppW4n2A
https://dl.doubtnut.com/l/_81FkjJYW7MUl
https://dl.doubtnut.com/l/_bK4tAiW1j3WK

21. Define Faraday.

° Watch Video Solution

22.(a) (i) State Ohm's law.
(i) With the help of a circuit diagram derive the formula for the resultant

resistance of three resistances connected in parallel.

° Watch Video Solution

23. Write the electrochemical cell for the overall cell reaction

Z’I’L(S) + 2AgNO5; — 2Ag(5) + Z’I’L(N03)2.

° Watch Video Solution

24. The standard reduction potential of Fe3™, Fe?™ /Pt is +0.771V.

This half cell is connected with another half cell such that em/f. of the cell


https://dl.doubtnut.com/l/_GmcbyEyxHQGj
https://dl.doubtnut.com/l/_oVIoExT4K6RI
https://dl.doubtnut.com/l/_tCWTw93uhysv
https://dl.doubtnut.com/l/_1JKPorhBRwkj

is 0.771V. What is the other half cell ?

° Watch Video Solution

25. How to predict the feasibility of a cell reaction ?

° Watch Video Solution

26. Write the overall redox reaction for the zinc-copper cell. Show the

oxidation and reduction half reaction.

° View Text Solution

27. What is salt bridge? How is it represented in a cell diagram?

° View Text Solution

28. Show that SHE can act both as a anode as well as cathode.


https://dl.doubtnut.com/l/_1JKPorhBRwkj
https://dl.doubtnut.com/l/_DAzcp7NtrPdU
https://dl.doubtnut.com/l/_WXKlFpBVMKXp
https://dl.doubtnut.com/l/_RhBEbAo0aCGC
https://dl.doubtnut.com/l/_FhzsGShYcXhi

° View Text Solution

29. Explain why Zn on reaction with dil. H,S0, liberated hydrogen,

whereas copper cannot?

° View Text Solution

30. Derive the relation between EMF and free energy.

° View Text Solution

31. What are the types of changes in the cathode and anode in

electrolytic and electrochemical cells.

° Watch Video Solution

32. Draw a neat diagram of Leclanche cell and mark the parts.



https://dl.doubtnut.com/l/_FhzsGShYcXhi
https://dl.doubtnut.com/l/_mBB4ssDyV93M
https://dl.doubtnut.com/l/_jE5Evx7Y3GfI
https://dl.doubtnut.com/l/_DRwB4bZz0sRc
https://dl.doubtnut.com/l/_JfLvtkfWMIaE

° View Text Solution

Additional Question And Answers Long Answer

1. How will you determine the conductivity of an electrolytic solution

using a wheatstone bridge?

° View Text Solution

2. Derive a relationship between dissociation constant K, and molar

conductivity A, .

° View Text Solution

3. Expalin SHE as a reference electrode.

° View Text Solution



https://dl.doubtnut.com/l/_JfLvtkfWMIaE
https://dl.doubtnut.com/l/_NrRPpPcj5kqo
https://dl.doubtnut.com/l/_MZq5KNxcHBiq
https://dl.doubtnut.com/l/_nWusB32qroRo
https://dl.doubtnut.com/l/_8srfiByLQHDz

4. How will you calculate solubility product of AgCl which is a sparingly

soluble salt?

° View Text Solution

5. Write the electrochemical mechanism of corrosion.

° View Text Solution

6. Write an account on cell terminology.

° View Text Solution

Problems For Practice

1. What is the electrochemical equivalent of a substance when 150 gm of

it is deposited by 10 ampere of current passed for 1sec?

| nu..,;,l,\'!,l,, o~ _1_ _an°*


https://dl.doubtnut.com/l/_8srfiByLQHDz
https://dl.doubtnut.com/l/_OQqDGqm1AoaB
https://dl.doubtnut.com/l/_mrWz4kVlgL1e
https://dl.doubtnut.com/l/_8cu5H8GpnSQw

L % vvaildn viaco S0Iution )

2. The electrochemical equivalent of an electrolyte is 235 gm

amp~ sec™ L. Calculate the amount of the substance deposited when 5

ampere is passed for 10 sec.

o Watch Video Solution

3.To 1 M solution of AgINO3, 0.75 F quantity of current is passed. What is

the concentration of the electrolyte, AgINO3 remaining in the solution?

o Watch Video Solution

4. 0.5 F of electric current was passed through 5 molar solution of
AgNQOs3, CuSO, and AICl3 connected in series. Find out the

concentration of each of the electrolyte after the electrolysis.

o View Text Solution



https://dl.doubtnut.com/l/_8cu5H8GpnSQw
https://dl.doubtnut.com/l/_fJJ2jQBeZE0X
https://dl.doubtnut.com/l/_gxRBvz4jNkRL
https://dl.doubtnut.com/l/_ZU6DzNurhX1d
https://dl.doubtnut.com/l/_Gk5zY4aHyijg

5. To one molar solution of a trivalent metal salt, electrolysis was carried
out and 0.667 M was the concentration remaining after electrolysis.

Calculate the quantity of electricity passed.

° Watch Video Solution

6. A conductance cell has platinum electrodes, each with 5 cm? area and

separated by 0.5 cm distance. What is the cell constant?

° Watch Video Solution

7. Specific conductance of 1 M KNQOj solution is observed to be
5.55 x 10 % mho em ~!. What is the equivalent conductance of KNO;

when one litre of the solution is used?

° Watch Video Solution



https://dl.doubtnut.com/l/_Gk5zY4aHyijg
https://dl.doubtnut.com/l/_fgTQhpmLRX8k
https://dl.doubtnut.com/l/_MvEh9Nfbku7r

8. The equivalent conductances at infinite dilution of
HCl, CH;COONa and NaCl are 42616, 91.0 and 126.45 ohm ~em?
gm equivalent ~! respectively. Calculate the equivalent conductance

(A« ) of acetic acid.

° Watch Video Solution

9. The standard reduction potential for the reaction
Sn'T 4+ 2~ — Sn’T is + 015V. Calculate the free energy change of the

reaction.

° Watch Video Solution

10. Write the Nernst equation for the half cell Zn?* (ag) /[ ZM(s).

° Watch Video Solution



https://dl.doubtnut.com/l/_c8zk9HbPv3wK
https://dl.doubtnut.com/l/_ULBwgo32odqJ
https://dl.doubtnut.com/l/_RVthM4ZgE5i5

1. The emf of the cell Cd /CdCl,, 25H,O [AgCl ) Agis 0.675 V.

Calculate of the cell reaction.

° Watch Video Solution

12 The standard free energy change of the reaction
M~ (aq) T € — My is -23125 k). Calculate the standard emf of the

half cell.

° Watch Video Solution

13. The emf of the half cell Cu®" (,,) /Cu(s) containing 0.01 M Cu**

solution is +0.301 V. Calculate the standard emf of the half cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_KKkJtGOM4lLx
https://dl.doubtnut.com/l/_9q7wp9UgzFbr
https://dl.doubtnut.com/l/_eCVequaLmz2o

14. If E, =05V corresponds to
Cr3t +3 — Cr(sy and E; = 0.41V corresponds to
Cr3t + e~ — Cr®" reactions, calculate the emf (E3) of the reaction

Crit 42 — Cris)-

° Watch Video Solution

15. Calculate the standard emf of the cell having the standard free energy

change of the cell reaction is -64.84 k] for 2 electrons transfer.

° Watch Video Solution

16. Calculate the emf of the cell Zn /ZnO,, OH ~,,, — HgO / Hg given
that E° values of OH ~, ZnO and OH ~, HgO / Hg half cells are -1.216

V and 0.098 V respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_yBjqBuQ6Dhft
https://dl.doubtnut.com/l/_b04UjUMb6OMy
https://dl.doubtnut.com/l/_Tqp3jEusPWPL
https://dl.doubtnut.com/l/_BjwjyUfpKJdG

17. The equilibrium constant of cell reaction:
Ag(s) + Fe*t & Fe*™ + Ag™ is 0335 at 25°C. Calculate the
standard emf of the cell Ag/Ag ™, Fe*™, Fe’™ / Pt. Calculate E° of the
half cell Fe3*, Fe?™ /Pt is 07791 V Calculate E° of Fe*™, Fe’™ / Pt

half cell.

o Watch Video Solution

18. Calculate the emf of the cell having the cell reaction
249" + Zn < 249 + Zn*" and E°.; = 1.56V at 25°C  when

concentration of Zn?* = 0.1M and Ag' = 10M in the solution.

. . RT _ |Zn"]
Hll’lt :Ecell — E cell — F In B
n [Ag]
o Watch Video Solution
19. The emf values of the cell reactions

Fe’t +e” — Fe?T and Ce’t — Ce*te™ are 061 V and 085 V


https://dl.doubtnut.com/l/_BjwjyUfpKJdG
https://dl.doubtnut.com/l/_IEDzsIervb7S
https://dl.doubtnut.com/l/_Lsc0EByjE08u

respectively. Construct the cell such that the free energy of the cell is

negative. Calculate the emf of the cell.

° Watch Video Solution

20. A zinc rod is placed in 0.095 M zinc chloride solution at 25° C. EmF of

this half cell is -0.79V. Calculate E° 7,51 / zn.

° Watch Video Solution

Unit Test

1. During electrolysis of molten sodium chloride, the time required to

produce 0.1 mol of chlorine gas using a current of 3Ais

A. 55 minutes

B. 107.2 minutes

C. 220 minutes


https://dl.doubtnut.com/l/_Lsc0EByjE08u
https://dl.doubtnut.com/l/_9jnRgLMFKkZ4
https://dl.doubtnut.com/l/_E0sCtXnxDAbF

D. 330 minutes

Answer: B

o Watch Video Solution

2. Assertion : pure iron when heated in dry air is converted with a layer of
rust.
Reason : Rust has the composition Fe30,
A.If both assertion and reason are true and reason is the correct
explanation of assertion.
B. If both assertion and reason are true but reason is not the correct
explanation of assertion.
C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: D

[ - 1


https://dl.doubtnut.com/l/_E0sCtXnxDAbF
https://dl.doubtnut.com/l/_Us2VJSdLaYnG

| @ View Text Solution

3. The number of electrons that have a total charge of 9650 coulombs is

A 6.22 x 10%

B.6.022 x 10**

C.6.022 x 10%?

D.6.022 x 1034

Answer: C

° Watch Video Solution

4. Which among the folJowing is the strongest reducing agent?

A F,

B.Cl,

C.Zn


https://dl.doubtnut.com/l/_Us2VJSdLaYnG
https://dl.doubtnut.com/l/_HvD8Zmp7k3y3
https://dl.doubtnut.com/l/_9hXSUsAXUDlx

D.Li

Answer: D

° Watch Video Solution

5. The emf of a cell with 1 M solutions of reactants and products in

solution at 25° C'is called

A. Half cell potential

B. Standard emf

C.Single electrode potential

D. Redox potential

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9hXSUsAXUDlx
https://dl.doubtnut.com/l/_pwDikRJ9cVr0

6. Write a note on sacrificial protection .

o Watch Video Solution



https://dl.doubtnut.com/l/_v5Sc5cJaBb2i

